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Figure 1: Ratio of a Square's Diagonal to its Sides 
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λ �P �λ �� ����� ������� • 

• �� α, β � P � ���� (α)β �P 
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Cn� ������ �� �������� ����������� ������� ���� ������� n ����� �� �����������

C0 = 1 ����� ������


Cn+1? ����� ������ ���� n + 1 ����� �� ����������� ��� �� �������� �� � ������ ��� ��� 
���� 2� 
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k ����� ���� α� n − k ����� ���� β 

n

Cn+1 = Ck · Cn−k n ≥ 0 
k=0 

C0 = 1 C1 = C0
2 = 1 C2 = C0C1 + C1C0 = 2 C3 = = 5 · · · 
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Figure 2: Geometry Problem 

BD = 1 
���� �� AD� 

AD = AC − CD = 500, 000, 000, 000 − 500, 000, 000, 0002 − 1 
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����� ��������� AD �� � ������� ������� 
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���� ���� �� f(x) = 0 ������� ���������� ������������� ����� f(x) = x2 − a 

xi

xi+1

y = f(x)

Figure 3: Newton's Method 
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������� �� (xi, f(xi)) �� ���� y = f(xi) + f �(xi) (x − xi) ����� f �(xi) �� ��� ����������� · 
xi+1 = ��������� �� ������ 

f(xi) 
xi+1 = xi − 

f �(xi) 

������ ����� 

f(x) = x 2 − a 
a 

χi+1 = χi − 
(χi 

2 − a)
= 

χi + 
χi 

2χi 2 
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χ0 = 1.000000000 a = 2 
χ1 = 1.500000000 
χ1 = 1.416666666 
χ1 = 1.414215686 
χ1 = 1.414213562 
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2 �� d������ ���������� 1�.414213562373 · · · 
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����������� ��� n������ ������� ������ r = 2, 10� 
0 ≤ x, y < rn 

x = x1 · rn/2 + x0 x1 = ���� ���� 

y = y1 · rn/2 + y0 x0 = ��� ���� 

0 ≤ x0, x1 < rn/2 

0 ≤ y0, y1 < rn/2 

z = x y = x1y1 · r n + (x0 · y1 + x1 · y0)rn/2 + x0 · y0· 

� ��������������� �� ���������� ��� = ��������� ��������� θ(n2) ����⇒ 
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Figure 4: Branching Factors 
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z0 = x0 · y0 

z2 = x2 · y2 

z1 = (x0 + x1) (y0 + y1) − z0 − z2· 
= x0y1 + x1y0 

z = r n + z rn/2 + z0z2 · · 
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T (n) = ���� �� �������� ��� n��������s 

= 3T (n/2) + θ(n) 

= θ nlog23 = θ n 1.5849625··· 

������ ���� θ(n2)� ������ ���� ����� 
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������� Xn = 
√

a (1 + �n) �n ��� �� � �� � · 
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Xn + a/Xn
Xn+1 = 

2 
a√

a(1 + �n) + √
a(1+�n)= 

2 � (1 + �n) + (1+
1 
�n) 

= (a) 
2 � 2 + 2�n + �n 
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= (a) 
2(1 + �n) � �n 
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= (a) 1 + 
2(1 + �n) 
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�n+1 = 
2(1 + �n) 
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